Math 205 Quiz 1

Name: ANSWQ RS

Instructions: No calculators. Use your own scrap. Write your fully simplified answers in the space provided.

1. Evaluate each expression without a calculatpr. \
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2. Expand and simplify.
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(a) (x +3)(4x—5) = LILX + 7%=l S (b) (Va + vb)(Va — vb) = ' M lo

(c) (2x+3)?= LfXL+IZ>< +9

3. Factor each expression.

(a) 4x%—25 = ('ZX"S)(?-Xff;) (b) 2x2 + 5x — 12 = (27&*3)(><+4)

(c) x3 —3x2 —dx +12 = (X"3)(K-2)(X+Z) (d) x* + 27x = X(X-fZ)(X?: SX’FCT)
=1

() Spe_ontiE g 6l = 2% /t(X'"')(X’" 7’) (f) 2’y — dxy = xj (X _ZJ(X'FZ*)

4. Simplify the rational expression.
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5. Rationalize the expression and simplify. _________I_.__..——-—-
(a) 10 _ 5{Z +2V|0 b et Je+h + 2
V5-2 _ o h .
6. Solve the equations for all real solutions.
0 (Z ,
(@) 2x2 +4x+1=0 x = e (b)x?—x—12=0 =x= ’"3}5‘
7. Solve each inequality. Write your answer in interval notation.
(a) —4<5-3x<17 x€ F"’";z) (blx" < 2648 wE (;'2‘/ L/')
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State whether each equation is true or false by writing “T” or “F”, respectively.

(@) (@ +q)* =p* + ¢* JE (b) Vab = vavb ' ()VaZ +bZ=a+b F:

ol = e (e)$=3—1 e (f)a’l‘b:—l- X0 o
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Find an equation for the line that passes through the point (2, —5) and

(a) has slope —3 Lj - ""—3)( + ’ (b) is parallel to the x-axis > = 5

(c) is parallel to the y-axis 7(‘ =" (d) is parallel to 2x — 4y = 3 B > J?: o 6

. Find the equation of the line that contains A(—7,4) and B(5, —12). 3 = L{'/% i, ‘ L:/Z

. IPfile) = %2, findand simplif\/m T k- ‘/\

. Find the domain of the following functions. Write in interval notation.

la) fle) = il ¢ C"OQ,“Z-)U-("'Z-JI)UO/O‘E’)b)g(x) ey D: ("D'o) DO)

xXZ+x—2 xZ+1

ff(x) =x% +2x —1and g(x) = 2x — 3, find:
2 2
la)-feg R =K+ G bygef 2% +4X-85

. Sketch the graphs of the given functions.
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(c) y=vx fely =
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(f)2x + 3y = 6
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